R meecang@index.co.uk :
~ “' ' o : Section 1

: Manual of Instructions
: : OTHER

o MANUALS

MANY FOR LARGER

MODELS SETS
ILLUSTRATED
MANUALS
JERECTOR SETS s !
. BUILD THE ALL SETS
MOST MODELS
“‘t il
{
: , BUILDS THE MOST-MODELS
L HAS THE MOST PARTS
] b 5 THE OI\LI;Y CONSTRUCTION TOY WITH THE SQUARE GIRDER!
. The A. C. Gilbert Company, New l‘{aven, Conn., U. S A.
e : IN ENGLAND
' \ 'I'hw A C. Gilbert Co., 109 Kingsway, London, W. C. 2
Form M984 Copyright 1929, The A. C. Gilbert Compa:&w"}{agen’. COhﬁecticut, LS. AL Printed in U. S. A.

- R




THE WORLD’S GREATEST TOY FOR BOYS.

dlello Bos!

You are to be Congratulated!

Just think! You now own an Erector set which is the best toy of its
kind ever made for boys. -

It has girders like structural steel, exactly like those used in sky-scrapers,
offices, factories and public buildings in New York, Chicago, London,
Paris, Berlin and other great cities of the world. ~ Then again, you can build derricks, machine
shops, battleships, aeroplanes, steam shovels, ferris wheels. engines,‘and thousands of other things
for which only the special Erector parts-are designed. These can be operated with the electric
motor which 1s included with most of the sets. g

You will notice that the models in this manual cover a very wide range of subjects. Most of
them were originated and designed by boys. For this reason I haye not given a description under
most of the models, because if other boys are able to invent models, I am quite sure that you will
not have any difficulty in constructing them when you have the actual reproduction before you.

It is much more interesting and also instructive to work out these models without being told )
every step in detail. This is what you will have to do when you become a real engineer.

I know you are going to have lots of fun witn Erector.

S Your Friend,

4




e T el T e e 1 . . ; B "-\t_(-::i
meccanoindex.co.uk 3

Models Built with No. 1 Erector

The number of models that can be built with Erector is unlimited. While we show a great many in this book, they are only indications of the large number of different varieties
and the adaptability of Erector, The World’s Greatest Toy. .

2 T — 1_’_‘-1_4‘:._ >

NS e e e S

e s § @ O

Band Saw Rocking Sign




meccanoindex.co.uk

Models Built with No. 1 Erector




meccanoindex.co.uk

Models Built with No. 1 Erector

T
—— |
Make collar on axle rod or crank secure, and
tie string around and under head of set screw f'
[ '
T NG

'y
L ]

Music Stand

CGED OEED o GNP O WD ¢ @D O
®

CEly OGP OGP @D ¢ @& ¢
L ]

CED o@D cuD o@D > oo

3-Wheeled Wagon
Stationary Sign




T URRTE R e e UGt Sl - GEELIE AR i

meccanoindex.co.uk

Models Built With No. 1 Erector

IS
g

O O,

m"(%

)

W N 0 A NE

-
=
=

No. 158—Tennis Racket

oo(w E.
4 NS/ N/ TINS/ T\ 7,
%. -

N (\“l

No. 163—Weather Vane No. 164—Rake

No. 166—Erector Jr.

DA/ AN N ZASASION
== *\'«%

<7 ~N
(1 22NN 7Y/ Q1 7Y/ RN 74N\ /AP
No. 169—Gin No. 170—Meat Saw

o, N
A :
Y

;\ R i
‘ O NS/NSZTUINS/NSITNZNSZNID) o o o o
s et s s rmsecnii : e

/,' ®
A v

’ .?0-0?.?0

(= Q

QULSA No. 167—Shovel

e

0. 168—Snow Shoé




; DRSNS
meccanoindex.co.uk T N\“S-x_

Models Built with No. 1 Erector

Pome =
om o =@ oqy any 5

Well Arch |

j\\‘ :
s &=

o

NN/

Mail Bag
Hanger




meccanoindex.co.uk

Models Built with No. 1 Erector

° ° ° »
VW » a» >aw* e
. D ° v
e | - e LN )\
.O for ?\"\o\

0 6 *
%L 3 A D= - |
S e L == - v s 0 o
o o R “le e
?) I
felep !
® o G

Turnstile

Bench Lathe [0

Derrick




meccanoindex.co.uk

Models Built With No. 1 Erector

Models from No. 89 to No. 131 Shown on this Page



meccanoindex.co.uk

Models Built with No. 1 Erector

) © DS g )

SIS

= \
'o
S
ZA| IS
0




meccanoindex.co.uk

Models Built with No. 1 Erector

e

BACN Vvitw A7 POINT A
SHOWING STRING 8 OVER SCREW

Derrick

Coal Shute




meccanoindex.co.uk

Models Built with No. 1 Erector

S “_‘u-““
=~

N S

ZIOYNN

S _ZP=)
T g

= NN
£

Arch & Stairs




1 Erector

ith No.

meccanoindex.co.uk

Models Built W

7]

7N

NZANOZAN/AN

£

ANTIZaN7aN

ONSZGT O ZNANE,
oS 3 o
Y, AW. ;\\

ANANY,

0T

OV

Models from No. 209 to No. 252 shown on this page




meccanoindex.co.uk

Models Built with No. 1 Erector

Low Truck

m— ™ - =
—_
- .

Tea Wagen

R. R. Gate Crossing



meccanoindex.co.uk

Models Built with No. 1 Erector

Hundreds of larger models can be built with larger Erector Sets. They are shown in other Books of Instruction furnished with each set.

Elevator Car

] =

=
m
Baggage Truck °

o - e A
ol .
o @ o

TR oEwm ewm o5,
» ‘

o= e
)

O GED O GED CGHD o@D °O @D o
®

‘Monitor

ZaN
LN N TN




meccanoindex.co.uk

The New Erector Builds These Wonderful Modils

All Of These Models Can Be Built With The Larger New Erector Sets

~




meccanoindex.co.uk

“SECTION 16” ERECTOR SEPARATE PARTS Page 1
GIRDERS




Page 2
ELEC. ACCESSORIES

m

eccanoindex.co.uk

ERECTOR SEPARATE PARTS
ANGLE & ANGLE PIECES

COLLARS COUPLINGS

@3

'S AD

s

SCREWS & NUTS
S52
55L-557-S 62

e0@ 00

P33 N1 B NIl N2I

St S3 P39
Si4 FA P40

PERFORATED STRIPS

F-G-H-1-J

BY
P22 AR
e o o
P38

CX-P57A-AS-AT-CY-P57D-CZ-P57E-DA-PS57F- AX-DU-EC

HOOKS & WASHERS

20

BL-~- AF-AG-CP

CRANKS

o)



meccanoindex.co.uk J

ERECTOR SEPARATE PARTS Page 3
WHEELS, DRUMS, DISCS, & PULLEYS




meccanoindex.co.uk

Page 4 ERECTOR SEPARATE PARTS
SCOOPS & BUCKETS TOOLS SIDE PLATES CAB TOPS




meccanoindex.co.uk

ERECTOR SEPARATE PARTS
CHASSIS PARTS

Page 5

TURRET PLATES




meccanoindex.co.uk

Page 6 ERECTOR SEPARATE PARTS
—— BASE PLATES

LRSI S SR R

(AX R4 XX RN X1 B2 J

09 8000000000

EO—-EU




meccanoindex.co.uk Q|
Form M999-28 ERECTOR SEPARATE PARTS PRICES
Most all dealers carry Separate Erector Parts. If unable to obtain in your city send us your check for the parts you want and we will be glad to send your order direct from here
if you will send us the name of your dealer.
: A. C. GILBERT CO., NEW HAVEN, CONN,, U, S, A:

Trade No. Name of Part Page Price | Trade No. Name of Part Page Price Trade No. Name of Part Page Price | Trade No. Name of Part Page Price
N1 440 Hex Nit: seswemspss svas 2,405 $.10 doz. o Pawlycosswmmmppes o5 o svauspoands wwv wk)D: € BT Pierced Distowves ivevsones 3 10 €4 DX  Twisted Cord (not illustrated.. .05 ft.
N11 6:32 Hex Nut... ... siaiveass Do 10! dOZ: P Small Base Plate—5 hole..6.... .10 ea. BV Chain Bucket (large) DY Bushing: soomsisvanss s 5.... 2 for .05
N21  8-32 Square Nut............ 2.... .05 doz Q Regular Base Plate—11 hole..6.... .15 ea. BW  Chain Bucket (small).. DZ Tackle Block......cocvvuinnnsn 3.... .15 ea.
P7 Strigll "Wheelupasmmanmmons 3.... .10 ea. R Dash Plate......cvvveennnnnn 4 .20 ea. BX  Reflector............... EA  Discontinued—See E. W.

P12 Crown. ‘GeIar vomevas o swwmpmar SR (118 3 S Large Base Plate—21 holes.6.... .40 ea. BY 11 Hole Fibre Strip.. d 1 EB 14 i, Collatee o o svavvanans 20000 05 ea.
P13 12-Tooth. Pihion Geatswsundwems .10 ea. T Bolet wu avsovngmes sepmawansss 4. .25 ea. BZ. Boiler Platesvoosvine . EC Giant Axle—29 in. long

P14 Woorm Gl wremsine s s dliG3E D5 5% .20 ea. U Boiler Top.. 3 .20 ea. CA Signal Arm. 5-16 in. diam.,.. 2,

P15 Coupling.... . .10 ea. \% Short Boiler. .15 ea. CB Wrench.... 2 ED Three Drum Hoist.... 4..

P17 Red \Vheel AT Ehe s oy .10 ea. w Stack..o.ovinannn . .05 ea. [ @04 Cab Top B ( - EE Double Angle Bracket...... 2 d "
P20 Five Hole StnpAmrmcd . wen  UD. A X Digoet SCo0D wumenins w v s 4. vue /5 ea; CD “ A (without large hole) 4.. EF Brush for P58 Motor.. 2iees 05 ea.
P22 Slotted Strip.. 2,95 =01 €a Y (Discontinued—See B. M.) CE (Discontinued—see R) EG Brush Spring for P58 Motor 2.... .05 ea.
P24 Crank..oovevvenenns .e.. .10 ea Z Flanged Wheel.............. B rw g CF Brass Brush................. 2 EH Gear Box Bracket........... 2.... .05 ea. 3
133 Small Screw Driver.........4.... .05 ea. AA Eccentric Crank......... S § 4 CG Miniature Light Bulb...... E . EI Standard Gear Bx Side Pl4.... .15 ea.
P34 Hank of String.. viwssalooes 509 €. AB  One Hole Coupling...... CH Right Angleicviciiiies EJ Gear Box Base.............. G <20 €as ¢
P37 Collar.......... s i 29 dOZ AC Universal Bracket....... s B CI Large Brass Segment. EK Plain Drum.......covvvvennn. 3.... .25 ea
P38 3-hole Strip...... 05 doz AD Hub Coupling...... s . CJ 36 Tooth Gear.......ocovvvnnnn : : EL Brake Drum...........ce.... s 125 B
P39 Wood Screw.. 15 doz AE  Spiral Spring..... sate g 8 s G Coil Magnet Wire. aio . EM  Universal Car Truck........ Qi 05 €d.
P40  Screw Eye.. 20 doz AF  Small Hook...... s 3 e CL  Small Rubber Tire..... . . s EN 14 in. Special Pulley........ 3i:es 10 ea
P48 Mitre Gear. .20 ea. AG Large Hook.. CM Fibre Disc with Hub......3. EO 6 in. Dup. Flat Base Plate 6.... .15 ea.
P49 18 Tooth Gear.. ve.. .15 ea. AH  Small Trlangle CN Brass Segment (small).....2. EP Flat Pulley......oovvieennnn.. 3.... .10 ea.
P50 72:To6th _ GEatiarmes s .30 ea. Al Large Triangle.. I - CcO Miniature Socket..... < A 7 ES Small Red Wheel............ 3.... .10 ea
P52 Ladder Chain (22 in. lgt)..l.... 15 ft. AJ Paper Erector Flag .......... 1 CP Fibre Washer....... «Dnsiors: oz, EU 3 in. Dup Flat Base Plate.6.... .10 ea
P52A Ladder Chain (10 ft. 1gt)..l.... .15 ft. AK Pile Driver Weight......... 1 CQ Slot Coupling EW 12 in. Duplex F. B. Plate..6.... .50 ea.
P54 MOEOL. mieminmommns smmmsmmnn snsls 8os 6.... 2.00 ea. AT, Collar formed one side...... 2 CR Spec. Tur. Plate with Hub.5.... . 3 EX Big Channel Girder 12 in...1.... 6 for .50
P56G Motor...... . 6 AM  Special Pulley—Metal....... 3 CS Wheel Segment.............. ) 3 EY Big Channel Girder 6 in....1.... .05 ea
P57  Motor 6 AN POITIteRy; s o svneosyos sspa s al CT Large Flanged Wheel. . EZ 6 in. Curved B. C. Girder..1.... .05 ea.
P57A 2 in. Axle..... 2 o . AQ Sheave, Pulleysoves ssveasss 3 CU Béllovssinavvnmmnsmmsnas oo — lowws 10 €3 FA 134 in. x 8-32 Screw.......... 2.... .20 doz.
P57D 6 in. Axle..... 06 ca. AR 8 Hole Strip........oeevvn... 2 CV  (Discontinued) 50 =R 11 U ——— 3eums 15 €3
PSZE 8 ‘in. Axle... . . AS 3 in. Axle Rod...covviinnnn. 2 CW  (Discontinued) FC  Machine Frame Right...... Biouy 29 2.
P57F 12 in. Axle 2 .12 ea. AT 4. 16, Axle Rod.eq i sesvevnes s 2 CX 1 in. Axle Rod........ BN FD  Hinged Loopi:sini s cominviss 2.::9 2 for .08
P38 Motor...... . . AU Mast Step..:vesinaes 1. CY 5 in. Axle Rod.. . T o

P5¢ Reverse Base. TN s AV 7 Hole Qtrlp Bracket.. Do CZ 7 in. Axle Rod.. FJ RiAack o s s o v« 201CA
P60C Transformers.......ou... i - AW  TFoot Block........vovivvnnnn. 2 DA 10 in. Axle Rod. FK Machine Frame Left 6.... .25 ea
P65 Disc Clutch Pow. Hois . . AX 1934 in. Axle Rod:svvesss 2 E s DB Motor Pulley...... v s - FLL  Helical Gear 3. ovn 25 ea
P79 Car: Truck: cocervvss sessgmns X 2 AY Biuill RIAE wau s sossvssves ss sDapws . DC Propeller Bladewsvsasawsns Jvsn + 5 FM  Cone Pulley = 3.... .50 ea.
P1133 Terminal Nut 4-40 2 . AZ Bull \Vheel Plate............ 5.... .25 ea. DD Hood & Radiator. 3 J a FN Small Spiral Spring 1.... 2 for .05
S-3 34 in. x 4-40 Terminal Screw..2.... .12 doz. BA B. W. Cntr (with Hub) 3 & 5.. .25 ea. DE  Steering Column.. . i FO Double Angle Base Plate.6.... .05 ea
S-11 Set Screw.........ocoeieeienns 2.... .05 doz. BB Segment Plate.c..ovmmevpes 2 DE:  'Tie RoQuwsesmsmmmvsmses s L 1 FP Small Disc Wheel.......... v <10.ea.
S-14 14 in x 6-32 Screw. 20000 .05 doz. B2 Wood Handle Screw Driver.4.. DG Dirag Litks o o i sosavesas s i . FQ Double Angle Bracket....... 2.... .35 doz.
S-51 14 m x 8-82 Screw. 202 w10 d6Z; BC Left Fender......ovvvvvennn.. 5 DH Steering Knuckle... B = - -

S-57 134 in. x 8-32 Screw.. e Banes w20 dOZ, BD Right: Fender, . i e - 5 DI Front Axle

S-62 7% in. x 8-32 Screw. e 1 dOZ BE 6 in. Slotted Angle Strlp...l DJ Rear  AX]Co sswnawasmes o

A 23 in. Girder... wile e 20:dozZ: BF Rateheteis s DK  Flat Spring.. :

B 5 in. Girder. .. eilsen ¢ 35 doz. BG Truck Body. 54 DL Bumper.. .

C 10 in. Girder................ 1.s5 50 doz: BH  Solid Collar 2. DM Disc Wheel s

D 2Y5 in, Curved Girde . 1. .25 doz. BI 6 in. Flat Beam Girder.....1.... DN Bearing Right Angle......

E 5 in. Curved Girder.. .... .40 doz. BJ 12 in. Flat Beam Girder....1.... 6 for .75 DO  Steering Wheel with Hub..

F 5 Hole Strip..: . sessveisesi@ess .10 doz. BK 832 Wing Nut: .o ensomesas: 2sias .25 doz. DP 12 in. Slotted Angle Strip...

G 7 Hole Strip...ceeeeeveeienen2000n .10 doz. BL  Small Washer................ 2.... .05 doz. DQ  Special Large Base Plate

H 11 Hole Strip.c.ieeceeeeeeae2oes .15 doz. BM  Clam Shell Scoop (new)....4.... 2.50 ea. (28 holes)..uvieeiiinneennnns

1 21 Hole StriDssw:soswnvs ss sosdoes . .20 doz. BN  Regular Turret Plate....... Scuws w15 €2 DR TLarge Rubber Tire.

I 41 Hole Strip.....c..ccoeeeea2uas .30 doz. BO  Reverce Switch Attachment 2.... .50 ea. DS Cotter Pinives somanvons s

K 11 Hele Strip Bracket......2.... .35 doz. BP Tip Brcket....oovivenreennnn. 4.... 250 ea. DT 1-hole Set Screw Coupling.2..

L 21 Hole Strip Bracket......2.... .05 ea. BQ Resistance Wire (not illustrated) .10 ea. DU A in, Diam. Axle 8% in....2.... 2 for .25

M Small Double Angle. N e—— L L BR Operi Slot Anglel, coamaness 2w 25 doz, DV in. Curved Beam Girder..l.... 6 for .75

N Long Double Angle.. 2.... .05 ea. BS Porcelain Socket............. Diian, 20 ea; DW Attachment Plug—not illustrated .15 ea.

A——%




meccanoindex.co.uk

ERECTOR SEPARATE PARTS PRICES (Continued)

Trade No. Name of Part Page
FW Slotted Crank ........ D s o
FX Ouiatter GEAT wswwie o Bl caans
FY Universal Ball ......... s Bp——
FZ Internal Gear «:iosss cai Sl v
GA 6x8 Duplex Flat Base

Plate s soena wanps 5 o (i
GR Flat Belt
GS ECcentric oswsvsomaasm
GT Flat Pulley with Hub..3.
GU Eccentric Loop e s i 5cone
GV Disc. Wheel, e : s sow 8 scsue
GW ‘Wood Wheel with Hub.3....
GX 8 Hole Double Angle

Bracket! « swww sislss varnis e
GY Metal Erector Tray ....6....
HA Rear Axle Housing..... 55 i
S52 1% in, x 8-32 Screw....2....

Trade No. Name of Part Page Price Trade No. Name of Part
For illustrated Zeppelin parts, see Section 5A
in Manu
HD Gondola .................. $ 25ea
HE Tail . ssvonsvomes s wses vasins .25 ea.
HF Butt: End Plate: .. coeme oosios .10 ea.
HG Nose: CaAD; : saeb S sabnis 25 ea.
HI Gondola. StRUt e s s s .30 doz
HJ Propellet s ausssies & noswes .10 ea.
HK 5 Inch Girder Formed...... .50 doz.
HL Rudder = Right .cecvoinnn .10 ea.
HM Rudder — Left uusoosunss .10 ea
HN Stabilizefs .vuwisonssmmvins .10 ea.
HO Cover for Zeppelin ........ 2.00 ea.
HP 6 Inch RING s oo 20 ea.
HQ Zeppelin Support Rod .... .25ea.
HR Wood. SCTEW: i susisiessisissessons 10 doz
HS Propeller Rod, 3 in. ...... 05 ea
HT Ceiling Support 3
HV Revolving Contact Unit....
HW Ball. Race cesseimss
HX Bearing Washer o
HY HAID: 3 Samis s s smams §
HZ Stationary Contact Unit,

with Cord and Plug....... 1.00 ea.
IA Swivel Unit Com-

pletely Assembled ........ 2.50 ea.
IB Propeller Rod, 2 in, ....... .04ea.
P-61 High Speed Motor «....... 6.00 ea.
B.AX. Bu]l Wheel Center,

3% i, Hub wasasseneesseess .25 ea.

Page

Price

Trade No.

Name of Part Page

REGULAR ERECTOR MANUALS

Price

No. 1 Erector Manual ............ .25 ea.
No. 3 Erector Manual .25 ea,
No. 4 Erector Manual .25 ea.
No. 6 Erector Manual .25 ea.
No. 7 Erector Mannal .25 ea.
No. 7% Erector Manual .50 ea,
No. 8 Erector Manual .75 ea.
No. 9 Erector Manual = 0D ea.
No. 10  Erector Manual 1.06 ea
ERECTOR ACCESSORY MANUALS

No. 3005 Erector Electrical

Set Manual .......... swveewie 220 64
No. B Big Girder Set Manual ...... .35ea
No. C Erector Airplane Manual.... .25ea




